

Sobolev-Type Orthogonal Polynomials: The Nondiagonal Case

M. ALFARO*,†, F. MARCELLÁN,‡,§ M. L. REZOLA,*,† AND A. RONVEAUX†

* Departamento de Matemáticas, Universidad de Zaragoza, 50009 Zaragoza, Spain;

† Departamento de Matemáticas, Universidad Carlos III de Madrid, 28911 Leganés, Spain; and

‡ Physique Mathématique, Facultés Universitaires Notre Dame de la Paix, 5000 Namur, Belgium

Communicated by Walter Van Assche

Received September 28, 1993; accepted in revised form November 26, 1994

Sobolev type orthogonal polynomials have been the object of increasing interest in the last few years. In this paper we introduce a generalization of the usual Sobolev-type inner product and we compare it with the strict diagonal case. Zeros and asymptotic properties of these kinds of polynomial sequence are studied.

© 1995 Academic Press, Inc.

1. INTRODUCTION

Let μ be a positive Borel measure on an interval (finite or infinite) $I \subset \mathbf{R}$ whose moments are finite and whose support is an infinite set. In the sequel (P_n) denotes the sequence of monic orthogonal polynomials (SMOP) with respect to μ and \mathring{I} denotes the interior of I .

We denote by (Q_n) the SMOP associated with the inner product

$$(P, Q) = \int_I P(x) Q(x) d\mu + \mathbb{P}(c)^t A \mathbb{Q}(c) \quad (1.1)$$

where $A \in \mathbf{R}^{(r+1, r+1)}$ is a positive semidefinite matrix, $c \in \mathbf{R}$ and given a polynomial $P(x)$, $\mathbb{P}(x)$ denotes the matrix

$$\begin{pmatrix} P(x) \\ P'(x) \\ \vdots \\ P^{(r)}(x) \end{pmatrix}$$

and $\mathbb{P}(x)^t$ its transpose.

† This research was partially supported by Diputación General de Aragón under Project P CB-12/91.

§ This research was partially supported by CICYT PB93-0228-C02-01.

The inner product (1.1) has been considered by several authors when A is diagonal (see, for instance, [2], [6], [9], [12], [14] and [16]). We are interested in the analysis of the inner product (1.1), not only as a generalization of the diagonal case but

(i) It appears as the natural form of an inner product such that the multiplication operator $H = (x - c)^{r+1}$ in the space of the polynomials is symmetric and commutes with the multiplication operator $G = (x - c)$ (see [5, Theorem 6]).

(ii) In [3] a particular case of the following inner product

$$\begin{aligned} \langle f, g \rangle = & \int_{-a}^a fg \, d\mu + M[f(c)g(c) + f(-c)g(-c)] \\ & + N[f'(c)g'(c) + f'(-c)g'(-c)] \end{aligned} \quad (1.2)$$

has been studied, where μ is a symmetric positive Borel measure on $I = [-a, a]$ and $M, N \in \mathbf{R}^+$. If (Q_n) is the SMOP with respect to (1.2), then $Q_{2n}(x) = U_n(x^2)$ and $Q_{2n+1}(x) = xV_n(x^2)$ hold. It follows that (U_n) and (V_n) are SMOP with respect to inner products like (1.1) with A diagonal and non-diagonal respectively (see [1]).

In this paper a comparison with the diagonal case is provided. In Section 2, several representation formulas of (Q_n) in terms of (P_n) are obtained, mainly when A is a 2×2 matrix. These results are basic for the development of the sections 3 and 4. The behaviour of the zeros in different situations is analyzed in Section 3.

In Section 4, a study of relative asymptotic properties for the orthonormal polynomials q_n in terms of the orthonormal polynomials p_n is presented. A comparison with the results by P. Nevai ([17]), F. Marcellán and W. Van Assche ([15]) and G. López, F. Marcellán and W. Van Assche ([11]) is given; our techniques are different and some new results are derived. On the other hand, we obtain some information about the elements of the matrix A from this asymptotic behaviour.

2. REPRESENTATION FORMULAS AND BASIC TOOLS

We need to introduce the kernel matrices

$$\mathbb{K}_n(x, c) = \begin{pmatrix} K_n(x, c) \\ K_n^{(0,1)}(x, c) \\ \vdots \\ K_n^{(0,r)}(x, c) \end{pmatrix}$$

$$\mathbb{K}_n = \begin{pmatrix} K_n(c, c) & K_n^{(0,1)}(c, c) & \cdots & K_n^{(0,r)}(c, c) \\ K_n^{(1,0)}(c, c) & K_n^{(1,1)}(c, c) & \cdots & K_n^{(1,r)}(c, c) \\ \vdots & \vdots & \ddots & \vdots \\ K_n^{(r,0)}(c, c) & K_n^{(r,1)}(c, c) & \cdots & K_n^{(r,r)}(c, c) \end{pmatrix}$$

where $K_n(x, y) = \sum_{j=0}^n P_j(x) P_j(y) / \|P_j\|_\mu^2$ is the kernel polynomial associated with the orthogonal polynomials (P_n) and $K_n^{(i,j)}(x, y) = (\partial^{i+j} / \partial x^i \partial y^j) K_n(x, y)$. Note that the $(r+1) \times (r+1)$ matrix \mathbb{H}_n is symmetric and positive definite.

The following identity turns out to be convenient (see [7, § 0.8.5 on p. 21–22])

LEMMA 1. *Let $x, u \in \mathbf{R}^k$, $x_0 \in \mathbf{R}$ and $A \in \mathbf{R}^{k \times k}$. Then*

$$\begin{vmatrix} x_0 & x' \\ u & A \end{vmatrix} = (\det A)(x_0 - x' A^{-1} u)$$

From it, we obtain formula (2.2) that will be relevant in Section 4.

PROPOSITION 2. *For every $n \in \mathbf{N}$*

(i) *The matrix $I + A\mathbb{H}_{n-1}$ is non singular*

$$(ii) \quad Q_n(x) = P_n(x) - \mathbb{P}_n(c)'(I + A\mathbb{H}_{n-1})^{-1} A\mathbb{K}_{n-1}(x, c) \quad (2.1)$$

$$(iii) \quad (Q_n, Q_n) / \|P_n\|_\mu^2 = \det(I + A\mathbb{H}_n) / \det(I + A\mathbb{H}_{n-1}) \quad (2.2)$$

Proof. (i) As the matrices A and \mathbb{H}_{n-1}^{-1} are positive semidefinite and definite respectively, the matrix $\mathbb{H}_{n-1}^{-1} + A$ is non singular. So $I + A\mathbb{H}_{n-1} = [\mathbb{H}_{n-1}^{-1} + A] \mathbb{H}_{n-1}$ is also non singular.

(ii) Consider the Fourier expansion of Q_n in terms of (P_n) , then

$$Q_n(x) = P_n(x) - \mathbb{Q}_n(c)' A\mathbb{K}_{n-1}(x, c) \quad (2.3)$$

If we evaluate the polynomial $Q_n(x)$ and their successive derivatives at the point c , from i) we get $\mathbb{Q}_n(c)' = \mathbb{P}_n(c)'(I + A\mathbb{H}_{n-1})^{-1}$ and because of (2.3), the formula (2.1) is true.

(iii) From orthogonality and the above expression for $\mathbb{Q}_n(c)'$ we have

$$\begin{aligned} (Q_n, Q_n) &= (Q_n, P_n) = \int_I Q_n P_n d\mu + \mathbb{Q}_n(c)' A\mathbb{P}_n(c) \\ &= \|P_n\|_\mu^2 + \mathbb{P}_n(c)'(I + A\mathbb{H}_{n-1})^{-1} A\mathbb{P}_n(c) \quad (2.4) \end{aligned}$$

On the other hand, from Lemma 1 and by straightforward calculations with determinants, formula (2.1) can be written as

$$Q_n(x) = (\det[I + A\mathbb{H}_{n-1}])^{-1} \begin{vmatrix} P_n(x) & \mathbb{P}_n(c)^t \\ A\mathbb{K}_n(x, c) & I + A\mathbb{H}_n \end{vmatrix} \quad (2.5)$$

Besides, from (2.5) and Lemma 1, we have

$$\begin{aligned} \|P_n\|_{\mu}^2 &= \int_I Q_n P_n d\mu = \begin{vmatrix} \|P_n\|_{\mu}^2 & \mathbb{P}_n(c)^t \\ A\mathbb{P}_n(c) & I + A\mathbb{H}_n \end{vmatrix} (\det[I + A\mathbb{H}_{n-1}])^{-1} \\ &= \frac{\det(I + A\mathbb{H}_n)}{\det(I + A\mathbb{H}_{n-1})} \|P_n\|_{\mu}^2 + \frac{\begin{vmatrix} 0 & \mathbb{P}_n(c)^t \\ A\mathbb{P}_n(c) & I + A\mathbb{H}_{n-1} \end{vmatrix}}{\det(I + A\mathbb{H}_{n-1})} \\ &= \frac{\det(I + A\mathbb{H}_n)}{\det(I + A\mathbb{H}_{n-1})} \|P_n\|_{\mu}^2 - \mathbb{P}_n(c)^t (I + A\mathbb{H}_{n-1})^{-1} A\mathbb{P}_n(c). \end{aligned}$$

Thus, from (2.4), the result follows. ■

It is well known that the kernels satisfy the Christoffel–Darboux formula, (see p. 23 in [4])

$$K_{n-1}(x, y) = \frac{1}{\|P_{n-1}\|_{\mu}^2} \frac{P_n(x) P_{n-1}(y) - P_n(y) P_{n-1}(x)}{x - y}$$

If we take successive derivatives with respect to y and evaluate at $y = c$, by using Leibniz's formula, we find that, for $j = 0, \dots, r$

$$\begin{aligned} K_{n-1}^{(0,j)}(x, y) &= \frac{j!}{\|P_{n-1}\|_{\mu}^2} \frac{1}{(x - c)^{j+1}} [T_j(x, c; P_{n-1}) P_n(x) \\ &\quad - T_j(x, c; P_n) P_{n-1}(x)] \end{aligned}$$

where $T_j(x, c; f)$ is the j -th Taylor polynomial of f in c . Inserting this into (2.3) and denoting $B(x) = 1/\|P_{n-1}\|_{\mu}^2 [I + A\mathbb{H}_{n-1}]^{-1} A(x - c)^r D(x)$ where

$$D(x) = \begin{pmatrix} 1 & 0 & 0 & \dots & 0 \\ 1!(x - c)^{-1} & 1 & 0 & \dots & 0 \\ 2!(x - c)^{-2} & \frac{2!}{1!}(x - c)^{-1} & 1 & \dots & 0 \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ r!(x - c)^{-r} & \frac{r!}{1!}(x - c)^{-(r-1)} & \frac{r!}{2!}(x - c)^{-(r-2)} & \dots & 1 \end{pmatrix}$$

we obtain:

PROPOSITION 3. *The formula*

$$(x - c)^{r+1} Q_n(x) = q_{r+1}(x, n) P_n(x) + q_r(x, n) P_{n-1}(x) \quad (2.6)$$

where $q_{r+1}(x, n) = (x - c)^{r+1} - \mathbb{P}_n(c)' B(x) \mathbb{P}_{n-1}(c)$ and $q_r(x, n) = \mathbb{P}_n(c)' B(x) \mathbb{P}_n(c)$ holds.

We point out that $B(x)$ is a matrix polynomial of degree precisely r and coefficients depending on n , hence $\deg q_{r+1} = r+1$ and $\deg q_r = r$. So, from (2.6) it follows that the sequence (Q_n) is strictly quasi-orthogonal of order $r+1$ with respect to the measure $(x - c)^{r+1} d\mu$ and therefore $(x - c)^{r+1} Q_n(x) = P_{n+r+1}(x) + \sum_{j=n-r-1}^{n+r} \lambda_{nj} P_j(x)$ where $\lambda_{n,n-r-1} \neq 0$. The numbers λ_{nj} can be expressed in terms of the coefficients of the polynomials $q_{r+1}(x, n)$ and $q_r(x, n)$ and the coefficients of the three term recurrence relation satisfied by the SMOP (P_n) .

Concerning the general properties about zeros of the polynomials Q_n , the following result can be derived:

PROPOSITION 4. *The polynomial Q_n has at least $n - (r+1)$ different zeros with odd multiplicity in \hat{I} when r is odd and $n \geq r+2$ and at least $n - (r+2)$ when r is even and $n \geq r+3$. Moreover, if $c \notin \hat{I}$, Q_n has at least $n - (r+1)$ different zeros with odd multiplicity in \hat{I} for $n \geq r+2$.*

Next, we consider the particular case where A is a 2×2 matrix. We will denote it by $A = \begin{pmatrix} M & \lambda \\ \lambda & N \end{pmatrix}$. Since A is positive semidefinite, we have $M \geq 0$ and $\lambda^2 \leq MN$ (therefore $N \geq 0$). In this situation, \mathbb{H}_{n-1} is also a 2×2 matrix and $\det \mathbb{H}_{n-1} = K_{n-1}(c, c) K_{n-1}^{(1,1)}(c, c) - (K_{n-1}^{(0,1)}(c, c))^2$.

We will denote by Q_n^{λ} the monic polynomials orthogonal with respect to the inner product

$$(f, g)_{\lambda} = \int_I fg d\mu + (f(c), f'(c)) \begin{pmatrix} M & \lambda \\ \lambda & N \end{pmatrix} \begin{pmatrix} g(c) \\ g'(c) \end{pmatrix} \quad (2.7)$$

Note that when $\lambda = 0$ we recover the diagonal case and then $Q_n^0(x) = Q_n(x)$.

Let $(P_n(x; \mu_2))$ and $(P_n(x; \mu_4))$ be the SMOP with respect to the measures $d\mu_2 = (x - c)^2 d\mu$ and $d\mu_4 = (x - c)^4 d\mu$, respectively and $(K_n(x, y; \mu_2))$ the sequence of kernels associated with $(P_n(x; \mu_2))$.

We will use several expressions concerning the diagonal case (see formulas (2.3) and (2.10) in [2]) that we next summarize.

LEMMA 5. *Let $\lambda = 0$, then*

$$\begin{aligned} (i) \quad \mathcal{A}_n(0) &= \det(I + A \mathbb{H}_n) \\ &= 1 + MK_{n-1}(c, c) + NK_{n-1}^{(1,1)}(c, c) + MN \det \mathbb{H}_{n-1} \end{aligned}$$

(ii) $\mathcal{A}_n(0) Q_n(c) = P_n(c)[1 + NK_{n-1}^{(1,1)}(c, c)] - P'_n(c) NK_{n-1}^{(0,1)}(c, c)$
 $\mathcal{A}_n(0) Q'_n(c) = -P_n(c) MK_{n-1}^{(0,1)}(c, c) + P'_n(c)[1 + MK_{n-1}(c, c)]$
(iii) Suppose that the condition $P_n(c) P_{n-1}(c; \mu_2) \neq 0$ is satisfied for every $n \in \mathbb{N}$. The formula

$$Q_n(x) = (1 - \alpha_n) P_n(x) + (\alpha_n - \beta_n)(x - c) P_{n-1}(x; \mu_2) \\ + \beta_n(x - c)^2 P_{n-2}(x; \mu_4)$$

where $\alpha_n = 1 - P_n(c)^{-1} Q_n(c)$ and $\beta_n = NP_{n-1}(c; \mu_2)^{-1} Q'_n(c) K_{n-2}(c, c; \mu_2)$, holds.

Now, we can obtain several expressions for the polynomials Q_n^λ that will be essential in sections 3 and 4.

PROPOSITION 6. We have

$$(a) \quad \mathcal{A}_n(\lambda) = \det(I + A\mathbb{H}_n) = \mathcal{A}_n(0) + 2\lambda K_{n-1}^{(0,1)}(c, c) - \lambda^2 \det \mathbb{H}_{n-1} \quad (2.8)$$

$$(b) \quad Q_n^\lambda(x) = P_n(x) \\ - \frac{K_{n-1}(x, c)}{\mathcal{A}_n(\lambda)} [MP_n(c) + \lambda P'_n(c) + (MN - \lambda^2) \\ \times (P_n(c) K_{n-1}^{(1,1)}(c, c) - P'_n(c) K_{n-1}^{(0,1)}(c, c))] \\ - \frac{K_{n-1}^{(0,1)}(x, c)}{\mathcal{A}_n(\lambda)} [NP'_n(c) + \lambda P_n(c) + (MN - \lambda^2) \\ \times (P'_n(c) K_{n-1}(c, c) - P_n(c) K_{n-1}^{(0,1)}(c, c))] \quad (2.9)$$

$$(c) \quad Q_n^\lambda(c) = \mathcal{A}_n(\lambda)^{-1} [\mathcal{A}_n(0) Q_n(c) - \lambda P_{n-1}(c; \mu_2) K_{n-1}(c, c)] \quad (2.10)$$

$$(d) \quad Q_n^{\lambda'}(c) = \mathcal{A}_n(\lambda)^{-1} [\mathcal{A}_n(0) Q'_n(c) + \lambda P'_{n-1}(c; \mu_2) K_{n-1}(c, c)] \quad (2.11)$$

Proof. (a) By a simple calculation we get,

$$\mathcal{A}_n(\lambda) = 1 + MK_{n-1}(c, c) + NK_{n-1}^{(1,1)}(c, c) + 2\lambda K_{n-1}^{(0,1)}(c, c) \\ + (MN - \lambda^2) \det \mathbb{H}_{n-1} \quad (2.12)$$

Then, from Lemma 5-i), (2.8) follows. Note that, from Proposition 2, $\mathcal{A}_n(\lambda) \neq 0$.

(b) It is a direct consequence of the formula (2.1).

(c) From b) and Lemma 5-ii), we get that

$$\mathcal{A}_n(\lambda) Q_n^\lambda(c) - \mathcal{A}_n(0) Q_n(c) = \lambda [P_n(c) K_{n-1}^{(0,1)}(c, c) - P'_n(c) K_{n-1}(c, c)]$$

Taking into account Lemma 2.1 in [2], the formula for $Q_n^\lambda(c)$ follows.

(d) By differentiating in (2.9) and evaluating at $x=c$ we obtain $\mathcal{A}_n(\lambda) Q_n^\lambda(c)$. Now it suffices to proceed as in c).

We can write $K_{n-1}(x, c)$ and $K_{n-1}^{(0,1)}(x, c)$ in terms of $P_n(x)$, $P_{n-1}(x; \mu_2)$ and $P_{n-2}(x; \mu_4)$. By substitution of these values in (2.9) we get a representation formula that will be a basic tool to obtain asymptotic results:

PROPOSITION 7. *Let c be such that the condition $P_n(c) P_{n-1}(c; \mu_2) \neq 0$ is satisfied for every $n \in \mathbb{N}$. Then, the formula*

$$\begin{aligned} Q_n^\lambda(x) = & (1 - \alpha_n^\lambda) P_n(x) + (\alpha_n^\lambda - \beta_n^\lambda)(x - c) P_{n-1}(x; \mu_2) \\ & + \beta_n^\lambda (x - c)^2 P_{n-2}(x; \mu_4) \end{aligned} \quad (2.13)$$

where

$$\begin{aligned} \alpha_n^\lambda = & \frac{\mathcal{A}_n(0)}{\mathcal{A}_n(\lambda)} \alpha_n + \frac{\lambda}{\mathcal{A}_n(\lambda) P_n(c)} \\ & \times [-\lambda P_n(c) \det \mathbb{H}_{n-1} + P_n(c) K_{n-1}^{(0,1)}(c, c) + P'_n(c) K_{n-1}(c, c)] \end{aligned} \quad (2.14)$$

and

$$\begin{aligned} \beta_n^\lambda = & \frac{\mathcal{A}_n(0)}{\mathcal{A}_n(\lambda)} \beta_n + \frac{\lambda}{\mathcal{A}_n(\lambda)} \frac{K_{n-2}(c, c; \mu_2)}{P_{n-1}(c; \mu_2)} \\ & \times [P_n(c) - \lambda P_{n-1}(c; \mu_2) K_{n-1}(c, c)] \end{aligned} \quad (2.15)$$

holds.

Note that if c is off the support of μ then for every n , $P_n(c) P_{n-1}(c; \mu_2) \neq 0$ holds.

3. ZEROS IN THE CASE 2×2

Because of proposition 4, we know that for $c \in \mathbb{R}$ and $n \geq 3$ the polynomial Q_n^λ has at least $n-2$ different zeros with odd multiplicity in \mathbb{I} , namely $\xi_{n1} \leq \dots \leq \xi_{nk}$ with $k \geq n-2$. With additional assumptions, we will improve this result.

3.1. In the diagonal case, if $c \notin I$ the zeros are real, simple and at least $n-1$ of them belong to either the interval $(\inf I, c)$ or $(c, \sup I)$, according to $c \geq \sup I$ or $c \leq \inf I$, (see [18]). Now we are going to investigate these properties for the polynomials associated with the inner product (2.7) when $c \notin I$. For the sake of simplicity we will only work with an interval I with $\sup I < \infty$ and $c \geq \sup I$, the results for an interval I with $\inf I > -\infty$ and $c \leq \inf I$ being analogous.

PROPOSITION 8. *If $0 \leq \lambda \leq \sqrt{MN}$ with $MN > 0$, then for $n \geq 3$ the polynomial Q_n^λ has real and simple zeros; at least $n-1$ of them are located in $(\inf I, c)$. Moreover, if Q_n^λ has a zero ξ_{mn} outside of $(\inf I, c)$, then $c \leq \xi_{mn} < c + (c - \xi_{n1})/(n-1)$ and $\xi_{mn} - c < c - \xi_{n,n-1}$.*

Proof. Since $c \geq \sup I$, Lemmas 2.1 in [2] and 5-ii) imply $Q_n'(c) > 0$ for all $n \in \mathbb{N}$, then $Q_n^{\lambda'}(c) > 0$ follows from proposition 6-d). We write $p(x) = (x - \xi_{n1}) \cdots (x - \xi_{nk})$.

If $k = n-2$ ($n \geq 3$), then $(Q_n^\lambda(x), (x-c)p(x)) = 0 = (Q_n^\lambda(x), p(x))$. From these conditions it follows that $Q_n^\lambda(c) Q_n^{\lambda'}(c) \neq 0$ and

$$\begin{aligned} \operatorname{sgn}[\lambda Q_n^\lambda(c) + N Q_n^{\lambda'}(c)] &= -\operatorname{sgn}\{[M Q_n^\lambda(c) + \lambda Q_n^{\lambda'}(c)] \\ &\quad + [\lambda Q_n^\lambda(c) + N Q_n^{\lambda'}(c)]\} \end{aligned}$$

Thus, $\operatorname{sgn}[\lambda Q_n^\lambda(c) + N Q_n^{\lambda'}(c)] = -\operatorname{sgn}[M Q_n^\lambda(c) + \lambda Q_n^{\lambda'}(c)]$ holds, and therefore we have $Q_n^\lambda(c) Q_n^{\lambda'}(c) < 0$. Since $Q_n^{\lambda'}(c) > 0$, we get $Q_n^\lambda < 0$ which implies $\xi_{mn} > c$. Besides, taking into account that

$$(Q_n^\lambda, (x-c)^2 p) = \int_I (x-c)^2 Q_n^\lambda p \, d\mu > 0$$

we deduce that Q_n^λ has not a zero in $(-\infty, \inf I]$.

If $k = n-1$, obviously all the roots are real and simple. Suppose that ξ_{mn} is outside of the interval $(\inf I, c)$; by orthogonality $(Q_n^\lambda, p) = 0$ and since the sign of $Q_n^\lambda(x)p(x)$ does not change in $(\inf I, c)$ we obtain that $Q_n^\lambda(c) \leq 0$ and so $\xi_{mn} \geq c$.

In addition, if $\xi_{mn} > c$, from $(Q_n'(c)/Q_n(c)) = \sum_{j=1}^{n-1} 1/(c - \xi_{nj}) - 1/(\xi_{mn} - c) < 0$ we have that $\xi_{mn} - c < c - \xi_{n1}/n-1$ and $\xi_{mn} - c < c - \xi_{n,n-1}$.

In general, for any $\lambda \neq 0$, we cannot assure that the above result remains true for all $n \geq 3$; however, with some additional assumptions, a similar result holds for n large enough:

PROPOSITION 9. *Let us suppose I bounded and $c > \sup I$, then for all $\lambda \in [-\sqrt{MN}, +\sqrt{MN}]$ with $N > 0$ there exists a positive integer n_0 , such that for $n \geq n_0$, the polynomial Q_n^λ has only real and simple zeros; $n-1$ of them are located in $(\inf I, c)$ and the largest zero is greater than c .*

Proof. From formula (2.10), taking into account Lemmas 2.1 in [2] and 5(ii), we have that $Q_n^\lambda(c) < 0$ if and only if

$$P_n(c) - NP'_{n-1}(c; \mu_2) K_{n-1}(c, c) < \lambda P_{n-1}(c; \mu_2) K_{n-1}(c, c)$$

so, it suffices to show that

$$\lim_{n \rightarrow \infty} \left[\frac{P_n(c)}{P_{n-1}(c; \mu_2) K_{n-1}(c, c)} - N \frac{P'_{n-1}(c; \mu_2)}{P_{n-1}(c; \mu_2)} \right] = -\infty$$

Indeed, let us write $a = \inf I$ and denote by $x_{n1} < x_{n2} < \dots < x_{nn}$ the zeros of P_n . Since $c \geq \sup I$ we have $(P'_n(c)/P_n(c)) = \sum_{k=1}^n 1/(c - x_{nk}) > n/(c - x_{n1}) > n/(c - a)$ and so $\lim_{n \rightarrow \infty} (P'_n(c)/P_n(c)) = +\infty$. On the other hand from the interlacing property, i.e. between two consecutive zeros of $P_n(x)$ there is exactly one zero of $P_{n-1}(x; \mu_2)$ (see [16, Lemma 6.1]), $\lim_{n \rightarrow \infty} (P'_{n-1}(c; \mu_2)/P_{n-1}(c; \mu_2)) = +\infty$ follows.

Finally, it can be easily proved that the sequence $(P'_n(c)/P_{n-1}(c; \mu_2))$, $K_{n-1}(c, c)$ is decreasing with positive terms, see Lemma 4.3 in [13]; hence

$$\lim_{n \rightarrow \infty} \frac{P_n(c)}{P_{n-1}(c; \mu_2) K_{n-1}(c, c)} = \lim_{n \rightarrow \infty} \frac{P'_n(c)}{P_{n-1}(c; \mu_2) K_{n-1}(c, c)} \frac{P_n(c)}{P'_n(c)} = 0$$

Hence, there exists a positive integer n_0 such that $Q_n(c) < 0$ for $n \geq n_0$. Now, proceeding as in Proposition 8, the result follows.

Remark. In the above proposition, the boundedness of I has only been used in order to assure that the conditions $\lim_{n \rightarrow \infty} (P'_n(c)/P_n(c)) = \lim_{n \rightarrow \infty} (P'_{n-1}(c; \mu_2)/P_{n-1}(c; \mu_2)) = +\infty$ hold. So, the proposition remains valid whenever both conditions are true.

Next, if $\xi_{nn} > c$, we can estimate the distance from ξ_{nn} to c in terms of the parameters M , N and λ .

PROPOSITION 10. *Let $\lambda > 0$ and $\xi_{nn} > c$. The following assertions are true:*

- (i) *If $MN \geq 2\lambda^2$, then $\xi_{nn} - c < N/2\sqrt{MN - \lambda^2}$.*
- (ii) *If $\lambda^2 \leq MN \leq 2\lambda^2$, then $\xi_{nn} - c < \lambda/M$.*

Proof. The polynomial Q_n^λ can be written as $Q_n^\lambda(x) = (\xi_{nn} - x) \phi(x)$ where $\phi(c) < 0$ and $\phi'(c) < 0$. By orthogonality $(Q_n^\lambda, \phi) = 0$ and since $\int_I (\xi_{nn} - x) \phi^2(x) d\mu(x) > 0$ we obtain

$$(\xi_{nn} - c) [M\phi^2(c) + 2\lambda\phi(c)\phi'(c) + N(\phi')^2(c)] < \lambda\phi^2(c) + N\phi(c)\phi'(c)$$

It is not difficult to prove that the expression inside the brackets is positive for all $\lambda \in \mathbf{R}$. Hence

$$\xi_{mn} - c < \frac{\lambda + N(\phi'(c)/\phi(c))}{M + 2\lambda(\phi'(c)/\phi(c)) + N(\phi'(c)/\phi(c))^2}$$

Therefore, it suffices to find the maximum value of $(\lambda + Nx)/(M + 2\lambda x + Nx^2)$ in $(0, +\infty)$ (note that $(\phi'(c)/\phi(c)) > 0$) or equivalently the maximum value of $y/(a + x^2)$ in $(\lambda/N, +\infty)$ where $a = (MN - \lambda^2)/N^2$. By elementary calculations the result follows. ■

Remark. Note that i) is also true for $\lambda = 0$ and in this case we recover the estimates obtained in [2], [10] and [16]. On the other hand, whenever $MN > \lambda^2$ and $\lambda < 0$ the same argument implies $\xi_{mn} - c < N/\sqrt{2(MN - \lambda^2)}$.

3.2. In the diagonal case, when μ is symmetric (i.e. invariant under the transformation $x \rightarrow -x$ and I a symmetric interval) if we take $c = 0$, a special situation appears: all the zeros of Q_n are real, simple, belong to I and they are symmetric with respect to 0 (see [2]). We want to point out that the above assumptions concerning I and μ imply that $K_n^{(0,1)}(0, 0) = 0$ for all $n \in \mathbf{N}$.

We are going to analyze the analogous problem in the non-diagonal case. Firstly, observe that Q_n^λ are symmetric (i.e. $Q_n^\lambda(-x) = (-1)^n Q_n^\lambda(x)$) if and only if $\lambda = 0$. We assume that μ is symmetric, $c = 0$ and A is singular, that is $MN = \lambda^2$. Under these assumptions, by using the Christoffel–Darboux formula, (2.9) becomes

$$x^2 Q_{2n}^\lambda(x) = q_2^\lambda(x, 2n) P_{2n}(x) + q_1^\lambda(x, 2n) P_{2n-1}(x) \quad (3.1)$$

where

$$\begin{aligned} q_2^\lambda(x, 2n) &= x^2 - \lambda A_{2n}(\lambda)^{-1} \|P_{2n-1}\|^{-2} P_{2n}(0) P'_{2n-1}(0) x \\ q_1^\lambda(x, 2n) &= A_{2n}(\lambda)^{-1} \|P_{2n-1}\|^{-2} P_{2n}^2(0) [Mx + \lambda] \end{aligned}$$

and

$$x^2 Q_{2n+1}^\lambda(x) = r_2^\lambda(x, 2n+1) P_{2n+1}(x) + r_1^\lambda(x, 2n+1) P_{2n}(x) \quad (3.2)$$

where

$$\begin{aligned} r_2^\lambda(x, 2n+1) &= x^2 - A_{2n+1}(\lambda)^{-1} \|P_{2n}\|^{-2} P'_{2n+1}(0) P_{2n}(0) [\lambda x + N] \\ r_1^\lambda(x, 2n+1) &= N A_{2n+1}(\lambda)^{-1} \|P_{2n}\|^{-2} P'_{2n+1}^2(0) x \end{aligned}$$

We denote by $(x_{2n,k})_1^{2n}$, $(y_{2n-1,k})_1^{2n-1}$ the zeros of the polynomials P_{2n} and P_{2n-1} respectively, ordered by increasing size.

PROPOSITION 11. *Suppose μ symmetric, $c=0$ and $MN=\lambda^2$. The zeros of the polynomial Q_{2n}^λ are real and simple and they belong to the interval $[\min\{x_0, x_{2n,1}\}, \max\{x_0, x_{2n,2n}\}]$ where $x_0=-\lambda M^{-1}$. Moreover, at least one zero of Q_{2n}^λ can be found between two consecutive zeros of P_{2n} .*

Proof. By using the Christoffel–Darboux formula and taking into account the value of $A_{2n}(\lambda)$ we can write the polynomial q_2^λ in (3.1) as

$$q_2^\lambda(x, 2n) = A_{2n}(\lambda)^{-1} x [(1 + NK_{2n-1}^{(1,1)}(0, 0)) x + (Mx + \lambda) K_{2n-1}(0, 0)]$$

and thus $q_2^\lambda(x, 2n) > 0$ for every $x \in (-\infty, \min\{x_0, x_{2n,1}\}) \cup (\max\{x_0, x_{2n,2n}\}, +\infty)$. Since $q_1^\lambda(x_0, 2n) = 0$, we can easily deduce that

$$Q_{2n}^\lambda(x) > 0 \quad \text{for all } x \in (-\infty, \min\{x_0, x_{2n,1}\}) \cup (\max\{x_0, x_{2n,2n}\}, +\infty) \quad (3.3)$$

If $x_0 \notin [x_{2n,k}, x_{2n,k+1}]$ for some $k \in \{1, \dots, 2n-1\}$, as the sign of $q_1^\lambda(x, 2n)$ is constant in the interval $[x_{2n,k}, x_{2n,k+1}]$ then, from (3.1) and the separation property of the zeros of the polynomials P_n , the polynomial Q_{2n}^λ changes its sign in $x_{2n,k}$ and $x_{2n,k+1}$.

On the other hand, it follows from (3.1) that P_{2n} and Q_{2n}^λ have at most one common zero, namely x_0 . We will distinguish two cases according to whether x_0 is or isn't a zero of P_{2n} .

If $P_{2n}(x_0) \neq 0$, we have the following situations: (a) $x_0 < x_{2n,1}$; (b) $x_0 > x_{2n,2n}$, and (c) there exists a unique $k \in \{1, \dots, 2n-2\}$ such that $x_0 \in (x_{2n,k}, x_{2n,k+1})$.

(a) If $x_0 < x_{2n,1}$, we have $x_0 \notin [x_{2n,k}, x_{2n,k+1}]$ for every $k = 1, \dots, 2n-1$ and then the polynomial Q_{2n}^λ has only one zero between two consecutive zeros of P_{2n} . Therefore, all the zeros are real, simple and from (3.3) we obtain

$$x_0 < \xi_{2n,1} < x_{2n,1} < \xi_{2n,2} < \dots < \xi_{2n,2n} < x_{2n,2n}$$

In the case b), the result can be proved by the same arguments and we get

$$x_{2n,1} < \xi_{2n,1} < x_{2n,2} < \dots < x_{2n,2n} < \xi_{2n,2n} < x_0$$

(c) We can assure that Q_{2n}^λ has at least one zero in each interval $(x_{2n,j}, x_{2n,j+1})$ with $j \neq k$. Moreover, if we compare the signs of the polynomial Q_{2n}^λ in $x_{2n,k}$, x_0 and $x_{2n,k+1}$ we obtain that Q_{2n}^λ has a zero in $(x_{2n,k}, x_0)$ and another in $(x_0, x_{2n,k+1})$.

Now, we suppose that $P_{2n}(x_0) = 0$. First, let $x_0 = x_{2n,k}$ where $k \neq 0, 2n$. Then there is at least a zero of Q_{2n}^λ in $(x_{2n,j}, x_{2n,j+1})$ for $j = 1, \dots, 2n-1$ with $j \neq k-1, k$. Let us assume $k \leq n$, that is $x_0 < 0$. Since

$$\operatorname{sgn} Q_{2n}^\lambda(x_{2n,k-1}) = -\operatorname{sgn} P_{2n-1}(x_{2n,k-1}) = (-1)^k$$

and

$$\operatorname{sgn} Q_{2n}^\lambda(y_{2n-1,k-1}) = \operatorname{sgn} P_{2n}(y_{2n-1,k-1}) = (-1)^{k-1}$$

Q_{2n}^λ has a zero in $(x_{2n,k-1}, y_{2n-1,k-1})$. Moreover, as obviously $q_2^\lambda(x_0, 2n) > 0$, we can take y such that $x_0 < y < y_{2n-1,k}$ and $q_2^\lambda(y, 2n) > 0$. Applying once again (3.1) we get that Q_{2n}^λ changes its sign in y and $x_{2n,k+1}$; therefore Q_{2n}^λ has also a zero in $(x_0, x_{2n,k+1})$ which proves the result. In the case $k \geq n+1$, the same arguments are valid.

Finally, in a similar way as before, the proposition can be proved for $x_0 = x_{2n,1}$ and for $x_0 = x_{2n,2n}$.

We want to note that in this case, although the polynomials Q_{2n}^λ are not symmetric, they have n positive and n negative zeros as it happens for the symmetric polynomials. For this, it suffices to locate the zeros of Q_{2n}^λ in $(x_{2n,n}, x_{2n,n+1})$ by applying adequately the formula (3.1) and taking into account that in this case, (2.9) implies that $\operatorname{sgn} Q_{2n}(0) = \operatorname{sgn} P_{2n}(0)$.

PROPOSITION 12. *Suppose μ symmetric, $c = 0$ and $MN = \lambda^2$. The polynomial Q_{2n+1}^λ has at least $2n-1$ real and simple zeros which belong to \mathcal{I} . Moreover, if $\lambda > 0$ (respectively $\lambda < 0$) there are at least n negative (respectively positive) zeros and $n-1$ positive (respectively negative) zeros; each one of them is located between two consecutive zeros $y_{2n+1,j}$ and $y_{2n+1,j+1}$ of P_{2n+1} for $j = 1, \dots, 2n, j \neq n+1$ (respectively $j \neq n$).*

Proof. We know, by Proposition 4, that Q_{2n+1}^λ has at least $2n-1$ different zeros with odd multiplicity in \mathcal{I} .

From (3.2) and the separation property of the zeros of the polynomials P_n , since $\operatorname{sgn} r_1^\lambda(x, 2n+1) = \operatorname{sgn} x$, we can say that Q_{2n+1}^λ has at least one zero in every interval $(y_{2n+1,j}, y_{2n+1,j+1})$ whenever $j = 1, \dots, 2n$ with $j \neq n$ and $j \neq n+1$ and also in $(y_{2n+1,n}, y_{2n+1,n+2})$ because of

$$\operatorname{sgn} Q_{2n+1}^\lambda(y_{2n+1,n}) = -\operatorname{sgn} P_{2n}(y_{2n+1,n}) = (-1)^n$$

$$\operatorname{sgn} Q_{2n+1}^\lambda(y_{2n+1,n+2}) = -\operatorname{sgn} P_{2n}(y_{2n+1,n+2}) = (-1)^{n+1}$$

Now, from (2.9), it follows that $\operatorname{sgn} Q_{2n+1}^\lambda(0) = (-1)^{n+1} \operatorname{sgn} \lambda$ and the proof is complete. ■

We observe, with aid of Mathematica, that for $A = \begin{pmatrix} \lambda & \lambda \\ \lambda & \lambda \end{pmatrix}$, μ the Legendre measure and $c = 0$, there exists $\lambda_0 \in (0, +\infty)$ such that the polynomials Q_n^λ have two complex zeros for $n = 3, 5$ whenever $\lambda > \lambda_0$. The existence of complex zeros for Q_{2n+1}^λ remains an open problem.

Concerning the separation property of the zeros of the polynomials P_n and Q_n^λ when the matrix A is singular note that, for a symmetric measure μ and $c = 0$, a result has just been obtained in propositions 11 and 12. Now we study the same property when $c \notin \mathbb{I}$ and μ is not necessarily symmetric.

PROPOSITION 13. *Let $\lambda \geq 0$, $c \geq \sup I$ and suppose $MN = \lambda^2$. Then, between two consecutive zeros of P_n there is a unique zero of Q_n^λ . Moreover the largest zero of Q_n^λ is greater than the one of P_n .*

Proof. From (2.9), we have

$$\begin{aligned} Q_n^\lambda(x) - P_n(x) &= \frac{-1}{\Delta_n(\lambda)} ([MP_n(c) + \lambda P'_n(c)] K_{n-1}(x, c) \\ &\quad + [NP'_n(c) + \lambda P_n(c)] K_{n-1}^{(0,1)}(x, c)) \end{aligned} \quad (3.4)$$

On the other hand, by using the Christoffel–Darboux formula, the polynomial $K_{n-1}(x, c)$ has real and simple zeros which interlace with the zeros of P_n . The same result is true for $K_{n-1}^{(0,1)}(x, c)$ (see Lemma 5.1 in [13]). Then if $(x_m)_{i=1}^n$ are the zeros of P_n , from (3.4), the polynomial $Q_n^\lambda(x)$ changes its sign at each x_{ni} , $i = 1, \dots, n$. Moreover, from (3.4), $Q_n^\lambda(x_{ni}) < 0$ and thus $\xi_{ni} > x_{ni}$.

Remark. Proposition 13 implies that Q_n^λ has at least $n-1$ zeros in \mathbb{I} , which improves, for A singular, the result in Proposition 8.

4. RELATIVE ASYMPTOTICS FOR c OFF $\text{supp } \mu$ IN THE CASE 2×2

In this section we are going to analyze the asymptotic behaviour of the Sobolev-type orthonormal polynomials with respect to the standard orthonormal polynomials and to compare the results with the previous ones obtained by López, Marcellán and Van Assche (see [11] and [15]). In order to do this we will assume that the measure μ belongs to the Nevai class $M(0, 1)$. Recall that this means that $\text{supp } \mu = [-1, 1] \cup E$ with E a set which is at most denumerable and $E' \subset \{-1, 1\}$.

Let (p_n) be the sequence of orthonormal polynomials with respect to such a measure μ and define $\varphi(x) = x + \sqrt{x^2 - 1}$ where the square root is such that $|\varphi(x)| > 1$ whenever $x \in \mathbb{C} \setminus [-1, 1]$, which implies that

$\sqrt{x^2 - 1} > 0$ for $x > 1$ and $\sqrt{x^2 - 1} < 0$ for $x < -1$. It is known that for all $j = 0, 1, 2, \dots$

$$\lim_n \frac{p_n^{(j)}(x)}{p_{n-1}^{(j)}(x)} = \varphi(x) \quad (4.1)$$

$$\lim_n \frac{p_n^{(j+1)}(x)}{np_n^{(j)}(x)} = \frac{1}{\sqrt{x^2 - 1}} \quad (4.2)$$

uniformly on compact subsets of $\mathbf{C} \setminus \text{supp } \mu$ (see [11] and p. 33–36 in [17]).

Moreover, $\mu \in M(0, 1)$ implies that $\mu_2 \in M(0, 1)$ (recall that $d\mu_2 = (x - c)^2 d\mu$) and as a consequence we have (see [17], Theorems 20, 26 and 29, p. 68–73)

$$\lim_n \frac{p_n(x; \mu_2)}{p_n(x)} = \frac{1}{2|\varphi(c)|} \left(\frac{\varphi(x) - \varphi(c)}{x - c} \right)^2 \quad (4.3)$$

uniformly on compact subsets of $(\mathbf{C} \setminus \text{supp } \mu) \setminus \{c\}$,

$$\lim_n \frac{p_n(c; \mu_2)}{p_n(c)} = \frac{\varphi'^2(c)}{2|\varphi(c)|} \quad (4.4)$$

and

$$\lim_n \frac{\|P_{n-1}(\cdot; \mu_2)\|_{\mu_2}}{\|P_n\|_{\mu}} = |\varphi(c)| \quad (4.5)$$

Before we study the relative asymptotics we need to know the “size” of the kernels relative to the polynomials p_n and their derivatives. The following discrete version of l’Hospital’s rule is often very helpful in order to calculate limits (see e.g. [8])

STOLZ CRITERION. *Let (x_n) and (y_n) be real sequences. Suppose that (y_n) is monotonic and $y_n \neq 0$ for all n . If $\lim_n (x_{n+1} - x_n)/(y_{n+1} - y_n) = L \in \mathbf{R} \cup \{\pm\infty\}$ exists, then $\lim_n x_n/y_n = L$ provided either $\lim_n x_n = \lim_n y_n = 0$ or $\lim_n y_n = \pm\infty$.*

LEMMA 14. *If $\mu \in M(0, 1)$ and $x \in \mathbf{R} \setminus \text{supp } \mu$ then*

$$\lim_n \frac{p_n^2(x)}{K_{n-1}(x, x)} = \lim_n \frac{p_n(x) p'_n(x)}{K_{n-1}^{(0,1)}(x, x)} = \lim_n \frac{p'^2_n(x)}{K_{n-1}^{(1,1)}(x, x)} = \varphi^2(x) - 1 \quad (4.6)$$

and

$$\lim_n n^{-\alpha} K_n(x, x) = +\infty \quad \text{for every } \alpha > 0 \quad (4.7)$$

Proof. If $x \in \mathbf{R} \setminus \text{supp } \mu$, $(K_n(x, x))$ and $(K_n^{(1,1)}(x, x))$ are increasing sequences which tend to infinity. The same is true for $(K_n^{(0,1)}(x, x))$ whenever $x \in (0, +\infty) \setminus \text{supp } \mu$. If $x \in (-\infty, 0) \setminus \text{supp } \mu$, it is clear that $(K_n^{(0,1)}(x, x))$ is a decreasing sequence which tends to $-\infty$. By the Stolz criterion and (4.1), (4.6) follows.

On the other hand, it suffices to prove (4.7) for α a positive integer. Then, by Stolz criterion and (4.6),

$$\lim_n n^{-\alpha} K_n(x, x) = \lim_n \frac{p_n^2(x)}{n^\alpha - (n-1)^\alpha} = [\varphi^2(x) - 1] \lim_n \frac{K_{n-1}(x, x)}{n^{\alpha-1}}$$

By applying this procedure $(\alpha-1)$ times, (4.7) follows.

Remark. The asymptotic formula $\lim_n p_n^2(x)/K_{n-1}(x, x) = \varphi^2(x) - 1$ was proved by Nevai [17, Theorem 11, p. 31] using different techniques.

We are now ready to deduce our main results. A first one is an asymptotic expression for the ratio $(Q_n^\lambda, Q_n^\lambda)/\|P_n\|_\mu^2$, where (Q_n) is the SMOP associate with the inner product (2.7). In what follows, we write $\|Q_2^\lambda\|^2 = (Q_n^\lambda, Q_n^\lambda)$.

PROPOSITION 15. *Let $\mu \in M(0, 1)$ and $c \in \mathbf{R} \setminus \text{supp } \mu$, then*

$$\lim_n \frac{\|Q_n^\lambda\|}{\|P_n\|_\mu} = |\varphi(c)|^{\text{rank } A} \quad (4.8)$$

Proof. From (2.2) and (2.8) we get $\|Q_n^\lambda\|^2/\|P_n\|_\mu^2 = \det(I + A\mathbb{H}_n)/\det(I + A\mathbb{H}_{n-1}) = \Delta_n(\lambda)/\Delta_{n-1}(\lambda)$.

It is clear, from (2.12), that $(\Delta_n(\lambda))$ is an increasing sequence which tends to infinity; so, by Stolz criterion, $\lim_n \|Q_n^\lambda\|^2/\|P_n\|_\mu^2 = \lim_n (\Delta_n(\lambda) - \Delta_{n-1}(\lambda))/(\Delta_{n-1}(\lambda) - \Delta_{n-2}(\lambda))$ where, by (2.12) and Lemma 2.1 in [2], straightforward calculations lead to

$$\begin{aligned} \Delta_n(\lambda) - \Delta_{n-1}(\lambda) &= n^2 p_{n-1}^2(c) \left(\frac{2\lambda}{n} \frac{p'_{n-1}(c)}{np_{n-1}(c)} + \frac{M}{n^2} + N \frac{p'_{n-1}^2(c)}{n^2 p_{n-1}^2(c)} \right. \\ &\quad \left. + (MN - \lambda^2) \frac{p_{n-2}^2(c; \mu_2)}{n^2} \left[1 + \frac{K_{n-2}(c, c)}{p_{n-1}^2(c)} + \frac{K_{n-3}(c, c; \mu_2)}{p_{n-2}^2(c; \mu_2)} \right] \right) \end{aligned} \quad (4.9)$$

Whenever $\text{rank } A = 2$, on the right hand side of (4.9) the main contribution to the limit is the last term, so by (4.1) and (4.6), $\lim_n \|Q_n^\lambda\|^2/\|P_n\|_\mu^2 = \lim_n (p_{n-1}^2(c)/p_{n-2}^2(c)) (p_{n-2}^2(c; \mu_2)/p_{n-3}^2(c; \mu_2)) = \varphi^4(c)$.

If $\text{rank } A = 1$, by analyzing separately the cases $N \neq 0$ and $N = 0$ (which implies $\lambda = 0$ and $M \neq 0$), from (4.1) and (4.2), we get $\lim_n \|Q_n^\lambda\|^2/\|P_n\|_\mu^2 = \lim_n p_{n-1}^2(c)/p_{n-2}^2(c) = \varphi^2(c)$ and the proof is complete. ■

Denote by (q_n^λ) the sequence of orthonormal polynomials for the inner product (2.7). Since an asymptotic expression for the ratio $q_n^\lambda(x)/p_n(x)$ will be deduced from formula (2.13), we need to know the asymptotic behaviour of the coefficients α_n^λ and β_n^λ .

PROPOSITION 16. *Suppose $\mu \in M(0, 1)$ and $c \in \mathbb{R} \setminus \text{supp } \mu$. Let α_n^λ and β_n^λ be the coefficients in formula (2.13). Then*

- (a) *If $\text{rank } A = 2$, $\lim_n \alpha_n^\lambda = \lim_n \beta_n^\lambda = 1$*
- (b) *If $\text{rank } A = 1$, $\lim_n \alpha_n^\lambda = 1$ and $\lim_n \beta_n^\lambda = 0$*

Proof. By (2.15) and Lemma 5 we can write:

$$\begin{aligned} \beta_n^\lambda &= \frac{\|P_n\|_\mu}{\|P_{n-1}(\cdot; \mu_2)\|_{\mu_2}} \frac{np_n(c) K_{n-2}(c, c; \mu_2)}{p_{n-1}(c; \mu_2) \Delta_n(\lambda)} \left[N \frac{p'_n(c)}{np_n(c)} + \frac{\lambda}{n} \right] \\ &\quad + (MN - \lambda^2) \frac{K_{n-1}(c, c) K_{n-2}(c, c; \mu_2)}{\Delta_n(\lambda)} \end{aligned} \quad (4.10)$$

Taking into account that $\det \mathbb{H}_{n-1} = K_{n-2}(c, c; \mu_2) K_{n-1}(c, c)$, from (2.12), (4.2) and Lemma 14 we find that, when $\text{rank } A = 2$,

$$\lim_n \frac{1}{\Delta_n(\lambda)} [(MN - \lambda^2) K_{n-2}(c, c; \mu_2) K_{n-1}(c, c)] = 1 \quad (4.11)$$

and so, by letting n tend to infinity in (4.10) and using (4.2) and (4.11), $\lim_n \beta_n^\lambda = 1$ follows.

On the other hand, Lemma 5 allows us to write (2.14) in the form

$$\begin{aligned} \alpha_n^\lambda &= \Delta_n(\lambda)^{-1} \left(MK_{n-1}(c, c) + N \frac{p'_n(c)}{p_n(c)} K_{n-1}^{(0,1)}(c, c) \right. \\ &\quad \left. + \lambda \left[\frac{p'_n(c)}{p_n(c)} K_{n-1}(c, c) + K_{n-1}^{(0,1)}(c, c) \right] + (MN - \lambda^2) \det \mathbb{H}_{n-1} \right) \end{aligned} \quad (4.12)$$

(4.11), (4.6) and (4.7) imply that, for $\text{rank } A = 2$, the only contribution in the limit is the last term in (4.12) and hence $\lim_n \alpha_n^\lambda = 1$.

Next, suppose $\text{rank } A = 1$. Then

$$\Delta_n(\lambda) = 1 + MK_{n-1}(c, c) + NK_{n-1}^{(1,1)}(c, c) + 2\lambda K_{n-1}^{(0,1)}(c, c)$$

and in (4.10) the last term vanishes. From (4.2) and (4.6), whether $N \neq 0$ or $N = 0$, we find that $\lim_n \beta_n^\lambda = 0$. Formula (4.12) together with the assumption $\text{rank } A = 1$ and formula (4.6) yield $\lim_n \alpha_n^\lambda = 1$. ■

We are ready to prove:

PROPOSITION 17. Let $\mu \in M(0, 1)$ and $c \in \mathbf{R} \setminus \text{supp } \mu$. Then for all $j = 0, 1, \dots$

$$\lim_n \frac{(q_n^\lambda)^{(j)}(x)}{p_n^{(j)}(x)} = \left[\frac{(\varphi(x) - \varphi(c))^2}{2(x - c) \varphi(x) |\varphi(c)|} \right]^{\text{rank A}} \quad (4.13)$$

uniformly on compact subsets of $(\mathbf{C} \setminus \text{supp } \mu) \setminus \{c\}$ and

$$\lim_n \frac{(q_n^\lambda)^{(j)}(c)}{p_n^{(j)}(c)} = 0 \quad (4.14)$$

Proof. We write (2.13), in the form

$$\begin{aligned} \frac{q_n^\lambda(x)}{p_n(x)} &= \frac{\|P_n\|_\mu}{\|Q_n^\lambda\|} \\ &= \left[(1 - \alpha_n^\lambda) + (\alpha_n^\lambda - \beta_n^\lambda) \frac{(x - c) P_{n-1}(x; \mu_2)}{P_n(x)} + \beta_n^\lambda \frac{(x - c)^2 P_{n-2}(x; \mu_4)}{P_n(x)} \right] \end{aligned} \quad (4.15)$$

From (4.1), (4.3) and (4.5) we obtain

$$\lim_n \frac{(x - c) P_{n-1}(x; \mu_2)}{P_n(x)} = \frac{(\varphi(x) - \varphi(c))^2}{2(x - c) \varphi(x)} \quad (4.16)$$

uniformly on compact subsets of $(\mathbf{C} \setminus \text{supp } \mu) \setminus \{c\}$.

As an easy consequence of the above we get

$$\lim_n \frac{(x - c)^2 P_{n-2}(x; \mu_4)}{P_n(x)} = \left(\frac{(\varphi(x) - \varphi(c))^2}{2(x - c) \varphi(x)} \right)^2 \quad (4.17)$$

uniformly on compact subsets of $(\mathbf{C} \setminus \text{supp } \mu) \setminus \{c\}$. The asymptotic result (4.13) for $j = 0$ follows by letting n tend to infinity in (4.15), using Propositions 15 and 16 and either (4.16) or (4.17).

Now we can differentiate both sides of

$$\lim_n \frac{q_n^\lambda(x)}{p_n(x)} = \left[\frac{(\varphi(x) - \varphi(c))^2}{2(x - c) \varphi(x) |\varphi(c)|} \right]^{\text{rank A}}$$

(see [19, Theorem 10.28]). Hence

$$\lim_n \left(\frac{q_n^\lambda(x)}{p_n(x)} \right)' = \lim_n \frac{p_n'(x)}{p_n(x)} \left[\frac{q_n^{\lambda'}(x)}{p_n'(x)} - \frac{q_n^\lambda(x)}{p_n(x)} \right] = f'(x)$$

uniformly on compact subsets of $(\mathbf{C} \setminus \text{supp } \mu) \setminus \{c\}$, where the definition of f is obvious. From (4.2) and (4.13) for $j=0$, it follows that (4.13) is true for $j=1$.

The proof of (4.13) is completed by induction using the scheme employed in passing to the first derivative and taking into account (4.2).

Formula (4.14) follows directly from (4.13). ■

Remark. For $j=0$, this proposition includes the results for the cases $M \neq 0$, $N=0=\lambda$ (see [17, Lemma 16 on p. 132]) and $N \neq 0$, $M=0=\lambda$ (see [15, Theorem 2]).

Also, this asymptotic result has been obtained in [11] by using different techniques.

Proposition 17 tells us that the point c , where the derivatives in Sobolev-type inner product are evaluated, is the zero of the limit function in the relative asymptotic behaviour. Next we are going to obtain the masses in the discrete part of the inner product.

PROPOSITION 18. *Let $\mu \in M(0, 1)$ and $c \in \mathbf{R} \setminus \text{supp } \mu$. The following assertions are valid:*

- (a) *If $\text{rank } A=2$ and $\lambda \neq 0$, then $\lim_n p'_n(c) q_n^{\lambda}(c)/n^2 = 4\lambda \sqrt{c^2 - 1}/(MN - \lambda^2)$*
- (b) *If $\text{rank } A=2$ and $\lambda=0$, then $\lim_n p'_n(c) q_n^{\lambda}(c)/n = 4N^{-1}(c^2 - 1)$*
- (c) *If $\text{rank } A=1$ and $MN\lambda \neq 0$, then $\lim_n p'_n(c) q_n^{\lambda}(c)/p_n^2(c) = \lambda \text{sgn } c/2N(c^2 - 1)$*
- (d) *If $\text{rank } A=1$ and $M=\lambda=0$, then $\lim_n p'_n(c) q_n^{\lambda}(c) = 2N^{-1} |\sqrt{c^2 - 1}|$*
- (e) *If $\text{rank } A=1$ and $N=\lambda=0$, then $\lim_n p_n(c) q_n(c) = 2M^{-1} |\sqrt{c^2 - 1}|$*

Proof. Formula (2.11) for orthonormal polynomials gives

$$\begin{aligned} \frac{\|Q_n^{\lambda}\|}{\|P_n\|_{\mu}} q_n^{\lambda}(c) &= \frac{p'_n(c)}{A_n(\lambda)} \\ &+ \frac{\|P_{n-1}(\cdot; \mu_2)\|_{\mu_2}}{\|P_n\|_{\mu}} \frac{K_{n-1}(c, c)}{A_n(\lambda)} (M p_{n-1}(c; \mu_2) + \lambda p'_{n-1}(c; \mu_2)) \end{aligned}$$

(a) Suppose $\text{rank } A=2$ and $\lambda \neq 0$. From (4.2), (4.6) and (4.11) we find that

$$\lim_n \frac{q_n^{\lambda}(c) p'_n(c)}{n^2} = \lim_n \frac{\|P_n\|_{\mu}}{\|Q_n^{\lambda}\|} \frac{\|P_{n-1}(\cdot; \mu_2)\|_{\mu_2}}{\|P_n\|_{\mu}} \frac{\lambda p'_{n-1}(c; \mu_2) p'_n(c)}{(MN - \lambda^2) n^2 K_{n-2}(c, c; \mu_2)}$$

Using (4.1)–(4.6) and Proposition 15 we obtain

$$\lim_n \frac{q_n^{\lambda'}(c) p_n'(c)}{n^2} = \frac{2\lambda}{MN - \lambda^2} \frac{\varphi^2(c) - 1}{\varphi(c)} = \frac{4\lambda}{MN - \lambda^2} \sqrt{c^2 - 1}$$

where the last equality follows from the function φ .

(b) If $\text{rank } A = 2$ and $\lambda = 0$, in a similar way we have

$$\lim_n \frac{q_n^{\lambda'}(c) p_n'(c)}{n} = \lim_n \frac{\|P_n\|_{\mu}}{\|Q_n^{\lambda}\|} \frac{\|P_{n-1}(\cdot; \mu_2)\|_{\mu_2} p_{n-1}(c; \mu_2) p_n'(c)}{\|P_n\|_{\mu} N n K_{n-2}(c, c; \mu_2)}$$

and by the same reasoning as before, it follows that $\lim_n q_n^{\lambda'}(c) p_n'(c)/n = 4N^{-1}(c^2 - 1)$.

(c) It suffices to proceed as in the two previous cases, taking into account that if $\text{rank } A = 1$ with $MN\lambda \neq 0$, then

$$\Delta_n(\lambda) = 1 + MK_{n-1}(c, c) + 2\lambda K_{n-1}^{(0,1)}(c, c) + NK_{n-1}^{(1,1)}(c, c)$$

and hence $\lim_n N \Delta_n(\lambda)^{-1} K_{n-1}^{(1,1)}(c, c) = 1$. Since

$$\lim_n \frac{q_n^{\lambda'}(c) p_n'(c)}{p_n^2(c)} = \frac{\lambda}{N} \lim_n \frac{\|P_n\|_{\mu}}{\|Q_n^{\lambda}\|} \frac{\|P_{n-1}(\cdot; \mu_2)\|_{\mu_2} p_{n-1}'(c; \mu_2) p_n'(c) K_{n-1}(c, c)}{\|P_n\|_{\mu} p_n^2(c) K_{n-1}^{(1,1)}(c, c)}$$

the result follows from (4.1)–(4.6) and Proposition 15.

(d) In a similar way we can find this asymptotic formula, which was already given in [15, formula (22) on p. 199].

(e) Whenever $\text{rank } A = 1$ and $N = \lambda = 0$, formulas (2.8) and (2.10) give

$$q_n^2(c) p_n(c) = \frac{\|P_n\|_{\mu}}{\|Q_n^2\|} \frac{p_n^2(c)}{1 + MK_{n-1}(c, c)}$$

and the result follows immediately. This result can also be found in [17, Lemma 16]. ■

The asymptotic behaviour of some expressions involving either $q_n^{\lambda'}(c) p_n'(c)$ or $q_n^{\lambda'}(c) p_n(c)$ gives us information about the matrix A in the inner product.

COROLLARY 19. *Let q_n^{λ} and p_n the orthonormal polynomials associated with the product (2.7) and the measure μ , respectively. Suppose $\mu \in M(0, 1)$ and $c \in \mathbb{R} \setminus \text{supp } \mu$. Then*

- (a) $\text{rank } A = 2 \text{ and } \lambda \neq 0 \text{ if and only if } \lim_n q_n^{\lambda}(c) p_n'(c)/n^2 \in \mathbb{R} \setminus \{0\}$
- (b) $\text{rank } A = 2 \text{ and } \lambda = 0 \text{ and only if } \lim_n q_n^{\lambda}(c) p_n'(c)/n \in \mathbb{R} \setminus \{0\}$
- (c) $\text{rank } A = 1 \text{ and } MN\lambda \neq 0 \text{ if and only if } \lim_n q_n^{\lambda}(c) p_n'(c)/p_n^2(c) \in \mathbb{R} \setminus \{0\}$
- (d) $\text{rank } A = 1 \text{ and } M = \lambda = 0 \text{ if and only if } \lim_n q_n^{\lambda}(c) p_n'(c) \in \mathbb{R} \setminus \{0\}$
- (e) $\text{rank } A = 1 \text{ and } N = \lambda = 0 \text{ if and only if } \lim_n q_n^{\lambda}(c) p_n'(c) \in \mathbb{R} \setminus \{0\}$

Proof. Because of Proposition 18, in all these five cases, it suffices to prove the corresponding sufficient condition.

Firstly, let us note that when $\text{rank } A = 1$ and $N = \lambda = 0$ it can be deduced that $\lim_n p_n^{-2}(c) q_n^{\lambda}(c) p_n'(c) = \infty$ and hence $\lim_n n^{-\alpha} q_n^{\lambda}(c) p_n'(c) = \infty$ for $\alpha = 0, 1, 2$.

(a) Assume that $\lim_n n^{-2} q_n^{\lambda}(c) p_n'(c) \in \mathbb{R} \setminus \{0\}$. Then the case $\text{rank } A = 1$ and $N = \lambda = 0$ is excluded. On the other hand, it is obvious that in b), c) and d) the corresponding limit is either infinity or zero. Thus the only one possibility is $\text{rank } A = 2$ and $\lambda \neq 0$.

The remaining cases (b), (c), and (d) can be proved in the same way.

(e) From (2.13), we have $q_n^{\lambda}(c) p_n'(c) = (\|P_n\|_{\mu} (1 - \alpha_n^{\lambda}) p_n^2(c)) / \|Q_n^{\lambda}\|$. Now, it is not difficult to show that $N \neq 0$ implies $\lim_n q_n^{\lambda}(c) p_n'(c) = \infty$. So, $\lim_n q_n^{\lambda}(c) p_n'(c) \in \mathbb{R} \setminus \{0\}$ gives $N = 0$ and therefore $\text{rank } A = 1$ and $\lambda = 0$. ■

Next we analyze the asymptotic behaviour of the zeros of Q_n^{λ} off $\text{supp } \mu$. Recall that $(\xi_{nk})_{k=1}^n$ are the zeros of Q_n^{λ} ordered by increasing size.

Let $\mu \in M(0, 1)$ and suppose $c \geq 1$, then Proposition 9 assures that for all sufficiently large n , Q_n^{λ} has real and simple zeros, $\xi_{nn} > c$ and the other zeros belong to $(-1, c)$.

PROPOSITION 20. *If $N = 0$, then for all $\alpha \in (0, 1)$, $\xi_{nn} - c = o(n^{-\alpha})$ when n tends to infinity.*

Proof. If $N \neq 0$, from Lemma 5(ii), $\lim_n Q_n^{\lambda}(c)/n^{\alpha} Q_n^{\lambda}(c) = 0$ holds for all $\alpha \geq 0$, where formulas (4.2) and (4.6) have been used. Otherwise, as

$$\frac{Q_n^{\lambda}(c)}{Q_n^{\lambda}(c)} = \sum_{k=1}^n \frac{1}{c - \xi_{nk}}$$

and $(\xi_{nk})_{k=1}^n \subset (-1, c)$, we have $1/(\xi_{nn} - c) > (n-1)/(c+1) - [Q_n^{\lambda}(c)/Q_n^{\lambda}(c)]$. Therefore, $\xi_{nn} - c = o(n^{-\alpha})$ for all $\alpha \in (0, 1)$. ■

Let us note that, when $N \neq 0$, c attracts the greatest zero of Q_n^{λ} .

On the other hand, we know that each polynomial Q_n^{λ} has at most two zeros off $(-1, 1)$. We are going to show that when $\text{rank } A = 2$ and n is large

enough Q_n^λ has precisely two zeros off $(-1, 1)$ and both are attracted by c .

PROPOSITION 21. *Let $\text{rank } A = 2$. Then there exists a positive integer n_0 such that for every $n \geq n_0$, Q_n^λ has two zeros off $(-1, 1)$. Besides, $1 < \xi_{n,n-1} < c < \xi_{n,n}$ and $\lim_n \xi_{n,n-1} = \lim_n \xi_{n,n} = c$.*

Proof. From formulas (4.10) and (4.12) it can be deduced that

$$\lim_n (1 - \alpha_n^\lambda) P_n(c) = 0 = \lim_n (\alpha_n^\lambda - \beta_n^\lambda) P_{n-1}(c; \mu_2)$$

which implies that, for $x \in [1, c)$,

$$\lim_n (1 - \alpha_n^\lambda) P_n(x) = 0 = \lim_n (\alpha_n^\lambda - \beta_n^\lambda) P_{n-1}(x; \mu_2)$$

Recall that when $\text{rank } A = 2$, then $\lim_n \beta_n^\lambda = 1$. Thus if we evaluate (2.13) at $x = 1$ and if we use the above results then we have $\lim_n Q_n^\lambda(1) > 0$. As $Q_n^\lambda(c) < 0$ for all n large enough (see Proposition 9), we find that $1 < \xi_{n,n-1} < c < \xi_{n,n}$ for all sufficiently large n .

Let $\varepsilon \in \mathbb{R}$ with $0 < \varepsilon < c - 1$. By repeating the above argument we obtain that $\lim_n Q_n^\lambda(c - \varepsilon) > 0$ and so there exists a positive integer n_1 such that $c - \varepsilon < \xi_{n,n-1} < c$ for all $n \geq n_1$ and hence $\lim_n \xi_{n,n-1} = c$.

Remark. Let us note that when $\text{rank } A = 1$ and $\lambda \geq 0$, because of Proposition 13, Q_n^λ has only one zero off $(-1, 1)$. The question whether this result is true for $\text{rank } A = 1$ and $\lambda < 0$ remains open.

REFERENCES

1. M. ALFARO, F. MARCELLÁN, H. MEIJER, AND M. L. REZOLA, Symmetric orthogonal polynomials for Sobolev-type inner products, *J. Math. Anal. Appl.* **184** (1994), 360–381.
2. M. ALFARO, F. MARCELLÁN, M. L. REZOLA, AND A. RONVEAUX, On orthogonal polynomials of Sobolev type: Algebraic properties and zeros, *SIAM J. Math. Anal.* **23** (1992), 737–757.
3. H. BAVINCK AND H. G. MEIJER, Orthogonal polynomials with respect to a symmetric inner product involving derivatives, *Appl. Anal.* **33** (1989), 103–117.
4. T. S. CHIHARA, “An Introduction to Orthogonal Polynomials,” Gordon and Breach, New York, 1978.
5. A. DURÁN, A generalization of Favard’s theorem for polynomials satisfying a recurrence relation, *J. Approx. Theory* **74** (1993), 83–109.
6. D. EVANS, L. L. LITTLEJOHN, F. MARCELLÁN, C. MARKET, AND A. RONVEAUX, On recurrence relations for Sobolev orthogonal polynomials, *SIAM J. Math. Anal.* **26**, No. 2 (1995), 446–457.
7. R. A. HORN AND C. R. JOHNSON, “Matrix Analysis,” Cambridge Univ. Press, Cambridge, 1990.
8. G. KLAMBAUER, “Aspects of Calculus,” Springer-Verlag, New York, 1986.

9. R. KOEKOEK, "Generalizations of the Classical Laguerre Polynomials and Some q -Analogues," doctoral dissertation, Technical University of Delft, The Netherlands, 1990.
10. R. KOEKOEK AND H. G. MEIJER, A generalization of Laguerre polynomials, *SIAM J. Math. Anal.* **24**, No. 3 (1993), 768–783.
11. G. LÓPEZ, F. MARCELLÁN, AND W. VAN ASSCHE, Relative asymptotics for polynomials orthogonal with respect to a discrete Sobolev inner product, *Constr. Approx.* **11** (1995), 107–137.
12. F. MARCELLÁN, M., ALFARO, AND M. L. REZOLA, Orthogonal polynomials on Sobolev spaces: Old and new directions, *J. Comput. Appl. Math.* **48** (1993), 113–131.
13. F. MARCELLÁN, T. E. PÉREZ, AND M. PIÑAR, On zeros of Sobolev type orthogonal polynomials, *Rend. Mat. Roma* (7) **12** (1992), 455–473.
14. F. MARCELLÁN AND A. RONVEAUX, On a class of polynomials orthogonal with respect to a Sobolev inner product, *Indag. Math. (N.S.)* **1** (1990), 451–464.
15. F. MARCELLÁN AND W. VAN ASSCHE, Relative asymptotics for orthogonal polynomials with a Sobolev inner product, *J. Approx. Theory* **72** (1992), 192–209.
16. H. G. MEIJER, Laguerre polynomials generalized to a certain discrete Sobolev inner product space, *J. Approx. Theory* **73**, No. 1 (1993), 1–16.
17. P. G. NEVAI, "Orthogonal Polynomials," Memoirs of the Amer. Math. Soc., Vol. 213, Amer. Math. Soc., Providence, RI, 1979.
18. T. E. PÉREZ AND M. PIÑAR, Global properties of the zeros for Sobolev-type orthogonal polynomials, *J. Comput. Appl. Math.* **49** (1993), 225–232.
19. W. RUDIN, "Real and Complex Analysis," McGraw–Hill, New York, 1987.

Printed in Belgium
Uitgever: Academic Press, Inc.
Verantwoordelijke uitgever voor België:
Hubert Van Maële
Altenastraat 20, B-8310 Sint-Kruis